Rivet 3.1.10, = 2.5M events

13000 GeV pp Z+Jet
S il L L L L L L L L L B I B
o) - N
Q: 1.8 — Nch (ATLAS UE in Z production) ]
Z gl ®m ATLAS =
o 1 :
= — —&— Pythia 8.308 default 5
= N Pythia 8.308 tune-1 _
-O> 14— Pythia 8.308 tune-2c ]
ZqJ - Pythia 8.308 tune-2m 5
1 —
0.8 = -
0.6 = oL ]
0.4 :—/‘.‘fh Q‘;‘h“‘ -
0.2 = " —
- “““Hmm :
P T P A TP N PO NP R R R N B |%_Lm =y, |
— ' ' ' ' [ ' ' ' ' [ ' ' ' ' [ ' ' ' ' [ N
2 =
) - -
< = ]
-l - —
> - |
s 1 A_A f\“/\ /\,
§e)
©
o2
0.5

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


